oo

SPARE PARTS
WORKBOOK



Hull Parts - Bow Area

Number Description Product Code
1 RS Feva Foredeck FEV-HF-100
2 Pozzi pan screw 12x 1 1/2 FIX-S12-P01
3 Washer M6 'A' FIX-W6-001
4 100mm Black Dacron Patch ZDP1001
5 Allen Hatch 4 Inch: Sealing Ring A338
7 Pozzi pan screw 6 x 3/4 FIX-S6-P01
8 Allen Hatch 4 Inch: Black A337BLACK
9 Socket cap machine screw M8 x 40 FIX-B8-P40
10 RS Feva Pole Bearing Tube FEV-SP-908
11 RWO 38mm Plastic End Cap R0687
12 Rivet Monel 4.8 x 12 FIX-R48-M12
13 RS Feva Bowsprit Fully Rigged FEV-SP-500
14 RS Feva/Vareo/200 Bowsprit Outboard End Cap RSM-SP-902
15 RS Feva Tack Bar Saddles (Pair) FEV-HF-102
16 Washer M8 penny FIX-W8-002
17 Button head machine screw M8 x 25 FIX-B8-C25
18 Button head machine screw M6 x 25 FIX-B6-B25
19 Washer M5 Special Rubber FIX-W5-005
20 RS Feva Tack Bar FEV-HF-101




Hull Parts - Mast Step & Crew Area

Number Description Product Code
1 Button head machine screw M6 x 50 FIX-B6-B50
2 RS Feva / Quba Mast Gate Fastening Bolt & Knob 2012 FEV-HF-202
2 RS Feva / Quba Mast Gate Fastening Pin FEV-HF-201
3 Nyloc M6 FIX-N6-006
4 Button head machine screw M4 x 25 FIX-B4-B25
5 Allen Small Cleat AlaniteAllen Small Cleat Alanite A.677
6 Allen 20mm Dynamic Block: Single With Lacing Eye A2020LZ
7 Allen Pressed Lacing Eye 27mm A4388
8 Allen Tapered Spring Small A4034
9 Pozzi Pan Machine Screw M5 x 8 FIX-B5-P08
10 Allen 20mm Dynamic Block: Single With Lacing Eye A2020LZ
11 Pozzi pan screw 8 x 3/4 FIX-S8-P02
12 RS Feva Halyard Bag FEV-HF-203
13 Button head machine screw M5 x 20 FIX-B5-B20
14 Button head machine screw M5 x 35 FIX-B5-B35
15 Allen Large Cleat Alanite A.676
16 Allen Bullseye 13mm S/S Lined A4152
17 RS Feva Toestrap Set FEV-HF-401
18 RS Feva Toestrap Tie
19 Pozzi Pan Machine Screw M5 x 8 FIX-B5-P08
20 Allen Pressed Lacing Eye 27mm A4388




Hull Parts - Mast Step & Crew Area Cont.

N
/\O

A\
N
(o)}

N
N

/3
Q
o\

N
oo

J
=

Number Description Product Code
21 RS Feva Carry Handle Tubes Each FEV-HF-500
22 RS Feva Daggerboard Surround Nylon Upper FEV-HF-302
23 CSK machine screw M5 x 12 FIX-B5-C12
24 RS Feva Daggerboard Surround Nylon Lower FEV-HF-301
25 CSK machine screw M5 x 12 FIX-B5-C12
26 RS Feva Shroud Pack FEV-SP-909
27 Allen Shroud Stay Adjuster U Shape A4372
28 RS Feva Shroud U Bolt FEV-HF-304
29 Allen 27mm Plain Bearing Reinforced Block A4280P
30 STF Marine 5x10mm Clevis Pins and Split Rings ST-00510
31 RS Feva Mast Gate (Post 2012 Hex Head Recess) FEV-HF-200
32 Allen Cleat S/S Front Fairlead (Small For A77) A4665
33 Allen Cleat Carbon Over Fairlead (Large For A..76) A.588
34 RS Feva Main Halyard FEV-WEB-004
35 Allen Inglefield Clip Small (Pair) A..75
36 RS Feva Main Halyard Takeup
37 Allen P Clip Looped S/S Lacing Eye A4035




Hull Parts - Helm & Transom Area

Number Description Product Code
1 RS Feva Transom Carry Handle Rope
2 RS Feva Carry Handle Tubes Each FEV-HF-500
3 4"Allen Hatch 4 Inch: Sealing Ring A338
4 Pozzi pan screw 6 x 3/4 FIX-S6-P01
5 Allen Hatch 4 Inch: Black A337BLACK
6 RS Feva Toestrap Elastic (Rear)
7 Pozzi Pan Machine Screw M5 x 8 FIX-B5-P08
8 Allen Pressed Lacing Eye 27mm A4388
9 RS Feva Toestrap Tie
10 RS Feva Toestrap Set FEV-HF-401
11 Allen 60mm Pro Ratchet Block A2160
12 CSK pozzi machine screw M5 x 20 FIX-B5-C20
13 STF Marine 5x15mm Clevis Pins and Split Rings ST-00515
14 Allen Tapered Spring Small A4034
15 Allen Toe Strap Plate (Dark Grey) A..99G
17 Allen 30mm Dynamic Block: Single A2030
18 RS Feva Mainsheet Horse
18 RS Feva Adjustable Mainsheet Strops inc. Block FEV-UA-211
19 RWO 4mm Bobble: Black R1901T
20 Pozzi pan machine screw M6 x 16 FIX-B6-P16
21 RS Feva/Quba/Vision/Vareo Transom Plate RSM-HF-503
22 Allen Nylon Lacing Hook - Black A.148
23 Pozzi Pan Machine Screw M5 x 8 FIX-B5-P08
24 RS APB Transom Bung RSM-HF-501
26 RS Feva/Vareo/Vision Mainsheet Conversion Plate RSM-HF-401




6. Outhaul

Race Upgrades

Number Description Product Code

1 RS Feva 6:1 Kicking Strap FEV-UA-209
1 RS Feva Harken Race Kicker Kit FEV-UA-201
2 RS Feva Racing Jib Halyard Purchase Sheave FEV-SP-905

3 RS Feva Clew Strap FEV-SP-901

4 RS Feva Racing Downhaul (Allen) FEV-UA-204
4 RS Feva Harken Race Downhaul Kit FEV-UA-203
5 RS Feva Adjustable Mainsheet Strops inc. Block FEV-UA-211
6 RS Feva Racing Outhaul System FEV-UA-210
6

RS Feva Harken Race Outhaul Kit

FEV-UA-202




195

Mast & Boom Parts

A 4,

—
—

5

trig

-y

Number Description Product Code
1 RS Feva Mast/Boom End Plug FEV-SP-903
2 STF Marine 3.2x6.85 Monel Rivets ST-Z3207
3 Allen Burgee Clip A4066
4 Allen Bullseye 13mm S/S Lined A4152
5 Rivet Monel 4.8 x 12 FIX-R48-M12
6 Clamcleat Racing Fine Line Cleat Starboard CL258
7 Selden Forestay Eye Triangle P50847701
8 Selden Ball Bearing Block 30mm: Single With Shackle Swivel P403101SWI
9 Allen Forged Bow Shackle (Feva Rigging) F746L0
10 RS Feva Shroud Pack FEV-SP-909
11 RS Feva Mast Collar FEV-SP-900
12 Clamcleat Side Entry Cleat (Starboard) MK1 CL217MK1
13 RWO Standard Deck Clip Medium 1 R2830
14 RS Feva Kicker Attachment Shackle FEV-SP-910
15 Allen Carbine Hook Small F762L0
16 Allen Plain Single With Becket and V Cleat A4265
16 RS Feva 6:1 Kicking StrapRS Feva 6:1 Kicking Strap FEV-UA-209
17 Allen 20mm Dynamic Block: Single A2020
18 Clamcleat Junior Mk1 CL211MK1
19 Allen S/S Twisted Welded Hook A4069
20 Rivet Monel 4.8 x 18 FIX-R48-M18
21 Selden Ball Bearing Block 30mm: Single P403101SIN
22 Allen Fairlead Open Base 9mm A282
23 RS Feva Boom Inboard End FEV-SP-911
24 Selden Horn Cleat P51103001
25 RS Feva Mast Heel Plug Assembly FEV-SP-904
26 RS Feva Mast Collar (Foredeck Level). FEV-SP-913




Foils & Foil Parts

&6 /~

-33)

=131

Current Spec Rudder Stock)

\

Number Description Product Code
1 APB Rudder Blade Replacement Bottom Tip rsm-fo-909
2 RS Feva/ RS Quba/ RS Vareo Rudder Blade. Selden Stock. RSM-FO-101
2 RS Vision/Vareo/Feva/Quba Aluminium Rudder blade for Seasure RSM-FO-100
3 APB Rudder Blade Pivot Bush Narrow RSM-FO-905
3 APB Rudder Blade Pivot Bush (Wide) RSM-FO-907
4 APB Replacement Narrow Rudder Head RSM-FO-901
4 APB Replacement Wide Rudder Blade Head RSM-FO-906
5 APB Daggerboard Replacment Bottom Tip RSM-FO-910
6 RS Vareo/Feva Daggerboard RSM-FO-200
7 RS Feva Daggerboard Handle FEV-FO-902
8 RS Feva/ RS Vision/ RS Quba Tiller Extension: Seasure UJ RSM-FO-501
9 Seasure Flexible UJSeasure Flexible UJ S2367A
10 CSK pozzi screw 8 x 3/4 FIX-S8-C03
12 CL211MK1Clamcleat Junior Mk1 CL211MK1
13 Rivet Monel 4.8 x 12 FIX-R48-M12
14 RS Feva/Vision Tiller Arms Pair RSM-FO-903
15 Rudder Stock (Pintle & Gudgeon) Nut; Bolt and Washer RSM-FO-904
16 RS Vision/Feva/Vareo Rudder Stock; Tiller and Extension RSM-FO-300
17 Seasure Rudder Pivot Bolt & Wing Nut 59824
18 Seasure Rudder Pivot Wing Nut $1828P
19 Seasure RS APB Rudder Pintle $9597
20 Seasure RS APB Rudder Gudgeon $9598




Foils & Foil Parts Cont.

&6 4

-33)

Current Spec Rudder Stock)

Number Description Product Code
21 RS Feva/Quba Rudder Downhaul Line (from blade)
22 Nyloc M8 FIX-N8-008
23 RS Feva/ RS Quba/ RS Vareo Stock Head RSM-FO-304
24 Pan Head Machine Screw M8 x 50 FIX-B8-P50
25 Selden Ball Bearing Block 20mm: Single P402101SIN
26 RS Feva/Quba Rudder Downhaul (in cleat)
27 Rivet Monel 4.8 x 12 FIX-R48-M12
28 CL270Racing Micro with Becket CL270
29 Pozzi pan screw 6 x 3/4 FIX-S6-P01
30 RS Feva/ RS Quba Tiller and Extension RSM-FO-400
31 RWO 32mm Tube Saddle R0713
32 Rivet Monel 4.8 x 12 FIX-R48-M12
33 Selden Tiller Extension UJ CA0015
34 RS Feva/ RS Quba Tiller Extension: Selden UJ RSM-FO-500




Sails [Trolley |Covers [Spars

N
Y, 6
B=)
=z
)
|
Number Description Product Code
1 RS Feva Stacking Trolley FEV-TR-100
2 Trolley Wheel RSM-TR-911
3 Trolley Wheel Spring Clip RSM-TR-908
4 Nylon Trolley Washer M27 x 500D x 4mm Thick RSM-TR-916
5 RS Feva Boom Complete FEV-SP-400
6 RS Feva Mast Complete inc. Rigging Pack FEV-SP-100
7 RS Feva Spinnaker FEV-SP-300
8 RS Feva XL Mainsail Batten Set FEV-SA-901
9 RS Feva Race Jib FEV-SA-200
9 RS Feva Club Jib FEV-SA-201
10 RS Feva XL Mainsail Mylar (rolled inc. battens and bag) FEV-SA-100
10 RS Feva S Mainsail (dacron, folded inc. bag) FEV-SA-101
11 RS Feva XL Sail Decal FEV-SA-900
12 RS Padded Rudder Bag - Short RSM-CO-602
13 RS Padded Daggerboard bag RSM-CO-600
14 RS Feva Polycotton Top Cover FEV-CO-100
15 RS Feva Nylon Under Cover FEV-CO-200
16 RS Feva Padded Mast Bag FEV-CO-300
17 230mm Sail Number Black
18 RS Twin Tube Mast Floatation Bag RSM-SP-900
19 Clamp On Jockey Wheel Bracket for Standard Road Base RSM-TR-926
20 RS 190-220 Euro Spec Combination Road Base - 8" Wheel RSM-TR-103
21 RS 190-220 Euro Spec Combination Road Base - 10" Wheel RSM-TR-107




Rope List

ITEM QUANTITY ROPE :';’:ﬁ:g
Mainsheet 1 7mm Evo Sheet Black/white 8
Jib sheet 1 6mm Evo Sheet Black/Blue 5.5
Spinnaker sheet 1 6mm Evo Sheet Black/Yellow 8
Main halyard 1 4mm 8 Plait Prestretch Black 11
Jib halyard 1 5mm 8 Plait Prestretch Black 7
Spinnaker halyard 1 4mm 8 Plait Prestretch Yellow 12.75
Toe strap lashing 2 4mm Evo Performance Black/Yellow 0.5
Toe strap lashing 1 4mm Evo Performance Black/Yellow 0.7
Toe strap elastic 2 4mm Shockcord Black 0.35
Toe strap elastic 1 5mm Shockcord Black 0.95
Mainsheet strop 1 4mm Evo Performance Black/Yellow 1.8
Kicker cascade 1 4mm Evo Performance Black/Yellow 23
Righting line 2 5mm 8 Plait Prestretch Black 2.85
Righting line 2 5mm Shockcord Black 1.05
D/B retainer 1 6mm Shockcord Black 0.75
Main halyard strop 1 4mm Shockcord black 0.5
Carry handles 2 4mm Evo Performance Black/Yellow 0.5
mast gate pin 1 3mm shockcord black 0.5
painter 1 6mm Evo Sheet Black/Yellow 1.5
Block ties 2 4mm Evo Performance Black/Yellow 0.3
Downhaul 1 4mm Evo Performance Black 1.2
Boom strop 1 4mm Evo Performance Black/Yellow 04
Jib halyard block 1 4mm Evo Performance Black/Yellow 04
Outhaul 1 4mm 8 Plait Prestretch Black 2.5
Outhaul Take-Up 1 5mm Shockcord Black 2.3
Spinnaker Pole Tack Line 1 4mm Evo Performance Black/Yellow 24
Spinnaker Pole Launch Line 1 4mm Evo Performance Black/Yellow 1.2
Rudder Downhaul (in blade) 1 4mm Evo Performance Black/Yellow  0.55
Rudder Downhaul (in cleat) 1 4mm Evo Performance Black/Yellow 1.3
Mainsheet Horse 1 4mm 8 Plait Prestretch Black 1.75




